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General Instructions :
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(i) The question paper has 30 questions in all. All questions are

compulsory.
(ii) Marks are indicated against each question.

(iii) Questions from serial number 1 to 8 are very short answer

questions. Each question carries 1 mark.

(iv) Questions from serial number 9 to 20 are 3 marks questions.

Answer of these questions should not exceed 80 words each.

(v) Questions from serial number 21 to 28 are 5 marks questions.

Answer of these questions should not exceed 100 words each.

(vi) Question number 29 and 30 are map questions of 3 marks
each from History and Geography both. After completion,

attach the maps inside your answer-book.
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1.

1815 o &G o a1 H JUT o SIT<IeRT T h1 T&I e 1 o1 7

AYAT

foraam 9 sTufafzmes stderaren & SmaRHA a9 7 Vatls=1

What was the main aim of revolutionaries of Europe during the

years following 1815?
Or

What were the two bases of colonial economy in Vietnam?

IETE! Il ° Wi ford JhR U ST 8 7

How do minerals occur in sedimentary rocks?

Aifetform ® 9t o FSie o Rac® STEIe it 3aTs fofd dmred A
o oft ?

Which organisation led the protest against water privatisation in

Bolivia?

frrerer TR foraeft e H a1t <AifS |

Differentiate between investment and foreign investment.

ST SHISTT Toh 3ATIehT ATHT I o I T o foTT gt <ht 9k Sida
TilteHt U<t B | 3HehT U o i TSR B % foTT 3119 i 41 wIsg
g () e = ?

Suppose you have to buy a packed bottle for drinking water in your
journey. Which logo will you like to see to be sure about its

quality?
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6. Tortl @8 UE W hf=d TR fhd TR EYd Yepfd o ARIRHT &
fimd? 1

How are issue specific movements different from generic

movements?

7. Torddt sk Ui gat aht A ferfa foreent Tt T X aifaes dimen
], W 39 TP Terifaeh gt o &9 8 wre=rar 72 fireft 2 | 1

Name any one political party that has national level political

organisation but not recognised as the national political party.

8. had SIS o GaH H SMNUATNGR &k U ohl Joil ST &
T | IS | 1

Compare formal sector loans with informal sector of loans

regarding interest only.

9. 'IH ITN I H THAS IAM ¢ S hed A1 ° IAqH AT oo
3G ek i Ee H giqul qer ATEHWR = 17 36 HeH Hl AHETd
3R | 3

“Textile industry is the only industry in the country which is
self-reliant and complete in the value chain.” Justify the

statement.

10. ‘TT TsHifdes g @ @ AMNIE ® 7 TP TeHifasd g o % fotg
AT AT T Ioeid hIfT | 142=3

What is meant by a ‘national political party’? State the conditions

required to be a national political party.
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11. o Tt we fohd hed 2 7 3Rt sl -farfer =1 aoia hifse | 1+2=3

What are the sectional interest groups. Describe their functioning.

12. “‘SFIU=TiE &% 1 91@ sl TRl i gdicdied S aree |
Tt |fed 39 e i IS TS | 3x1=3

“The credit activities of the informal sector should be

discouraged.” Support the statement with arguments.

13. ““oam uitEed o 91gF g fowe gg @-nfda g ) e Sk ua

o e e
194 fo=m =k Fifsu | 3

“Efficient means of transport are pre-requisites for the fast

development.” Express your views in favour of this statement.

14. J9 ¥ AT T o6 A TR AT B ToRT THR TY A1 €9 A |
[EEGEREAIE LY 3

HAYAT

ST o foeg T & fou ga= & fafs= st gro fore T wemet @
forram o TgaTe forg Jehr 39X 7 farvermor hifs |

How had the female figures become an allegory of the nation

during nineteenth century in Europe? Analyse.
Or

How did nationalism emerge in Vietnam through the efforts of

different sections of society to fight against the French? Analyse.
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15. 1921 % fFa TSt o1 FUST dAR oL ot o ? Tt o 39 3oe
& fomiareti st ToE Fhife | 142 =3
Who had designed the ‘swaraj flag’ by 1921? Explain the main

features of this ‘swaraj flag.’

16. “GioTT AT A<M TEEAM HARIeH § B a11” wuq & g
SeTET Hied hIfSTT | 3x1=3

“The Civil Disobedience Movement was different from the Non-

Cooperation Movement.” Support the statement with examples.

17. SIS Yk UTh Sl Toh 3T SR TR Tt o TI3ae o fewdt S
IR =TT 8 |’ ki Afed e it giv hifen | 3x1=3

“Nearly every one of the state parties wants to get an opportunity to
be a part of one or the other national level coalition.” Support the

statement with arguments.

18. ‘IR H 90 § s=H % AU IUNIRI SATEehdT AcaEds 217 3@
e 3 gfE Fhifsr | 3

“Consumer awareness is essential to avoid exploitation in the

market place.” Support the statement.

19. "SRRI SR 3cUTeshi o S It SETH | SUNRBIHA! hi AT 3T

21" 39 HYA I RN 3 | 3x1=3

“Globalisation and greater competition among producers has been

of advantage to consumers.” Justify the statement with examples.
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20. W I Ysi o o MR R afihd shitee | F foFd TR Th-gl &
firm 2 7 3aTeel Afea woE ik | 142 =3

Classify industries on the basis of capital investment. How are they

different from one another? Explain with examples.

21. 01 ! HEAYUl TR TR {HeRT T ITTEWN Fied Fu hiTeT | 5

Describe the vital and positive role of credit with examples.

22. WA W 9gd 91 HIh{deh TiRATSAT 3 TYATE i ATRR L H fohd ThI
TEaqUl ftrert f99Ts 2 ¢ 3aTeen afed we fifv | 5x1=5

How did a variety of cultural processes play an important role in

making of nationalism in India? Explain with examples.

23. SAUR 18 ? =AU SATIR o A hl TI8 HIfNT | 1+4=5

What is trade? Explain the importance of international trade.

24, vt T8 whed 27 Jvdieron it gfkn & e w6 SgugE
SHF(] ShT SI{eRT o1 U I | 1+4=5

What is globalisation? Describe the role of Multinational

Corporations (MNCs) in promoting globalisation process.

25. ‘“ATehdTi=ieh IO AT 37 I F9EI1 9 9gal 2 || dehl dfed 39
Y T Targersor i | 5x1=5

“Democracy is a better form of government than any other form of

government.” Analyse the statement with arguments.
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26. “‘fordlt qu1 i iR 3Iefa fafamior e o foep@ @ @rdt St 217
Tent Aled 39 e i g8 FifT | 5
“The economic strength of a country is measured by the

development of manufacturing industries.” Support the statement

with arguments.

27. ‘‘zamd TgE TR eI TeHifd W fafie yehr @ yure s €17 59
o ! ITYH ISTEN died Y hIfT | 5x1=5

“Pressure groups and movements exert influence on
politics in different ways.” Support the statement with suitable

examples.

28. SIHTE! @M ok S AWfeeh qEA ohl WTEHT U1 R ok fofT T
ShTT=deRTI g1 IRFY foRT T IUmi 3T st ot forgersor <hifsru | 5x1=5
arera
“forrde I H SRRl o g5 H R USH H Th AU SR GREW BT
it & wg-ary smdfR & fou sga wem wfea ger |’ 3|
YA T forgeryor sHiTT |

Analyse the measures and practices introduced by the French
revolutionaries to create a sense of collective identity amongst the

French people.
Or

“U.S. entry into the war in Vietnam marked a new phase that
proved costly to Vietnamese as well as to the Americans.” Analyse

the statement.
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29, o9 @& A, B 3R C, WRA & feU U UsHifde T@T-AHtas # 37fhd
foru w2 | 39 Seqon o faefafiaa S f gerar @ gg=nfaw ot
3o TRt AW A 1 i 7 Weret i fdfey 3x1=3

A. T T SR RA T i o1 STeH g o |

B. 9% T STl foRuTHI o Heamie ¥ J1 g 2 |

C. 98 TR Sl STl SN "1 9 Ga1erd 2 |

Three features A, B and C are marked on the given political outline
map of India. Identify these features with the help of the following
information and write their correct names on the lines marked in

the map.

A. The place where the Indian National Congress Session was
held.

B. The place associated with peasant’s satyagraha.

C. The city associated with the Jallianwala Bagh incident.

die ;. fafafad yw waa givarfam whenfdat & fou w7 @@ 29 &
TWHWE:
(29.1) 39 T &1 a1 faRaw, SEF 1927 ¥ 9Rd™ T wE" &
SARrerT g o |
(29.2) 30 T 1 T foifaw, S et dil Tt 9l 3 ganE
foram o |

(29.3) SifeTATaTeAT ST Shi ST | FaIfera ITe a1 A fofiau |
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Note:The following questions are for the Visually Impaired
Candidates only, in lieu of Q. No. 29 :

(29.1) Name the place where the Indian National Congress

Session was held in 1927.

(29.2) Name the state where the Indigo planters organised
satyagraha.

(29.3) Name the city related to the Jallianwala Bagh incident.

30. WA o fou U TeHifos W@r-aHtas 8 Fefefaa @ 3w el 9

TRIM3Y ST 37 T feTfa : 3x1=3
A. FFCWR — dA-&F
B. 3R - Ed 3T 93

B. TRIA — Y@ 98! 9o

On the given political outline map of India locate and label the

following with appropriate symbols :

A. Ankleshwar — Oil field

B. Durgapur - Iron and steel plant
C. Tuticorin  — Major seaport
e : efafgd g o gieantem afentea & foy T den 30
WA WS

(30.1) SThoval da & fohe Tea o fea 2 7

(30.2) g ATET 9 3T & e Tea 0 fea 2 7
(30.3) 9 < Sfequran T 9w i 919 Tt |
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Note:
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The following questions are for the Visually Impaired
Candidates only, in lieu of Q. No. 30 :

(30.1) In which state is Ankleshwar oil field located?
(30.2) In which state is Durgapur iron and steel plant located?

(30.3) Name the southern most major seaport of India.

11


https://amzn.to/3OFHQkO



